

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: February 19, 2025

Final Estimate Number 22	Contract ID Prime Contra	230120- actor Kozeny-	-F03 -Wagner, Inc.	Pay Period S Pay Period E		tember 16, 20 ruary 15, 2029	5 Net Change	tract Amount Order Amount ract Amount	\$3,496,000.00 (\$286,008.95) \$3,209,991.05
Approval Date									By User
June 16, 2025			Generated and	Approved (an	d should b	e considered l	Oraft) at the Project	Office Level by	bauerd1
June 16, 2025		Rev	iewed and Appı	roved (and sho	ould be con	sidered Draft)	at the Resident En	gineer Level by	stutsb1
June 18, 2025				Reviewed and	d Approved	at the Centra	al Office Controllers	Office Level by	ramses1
Original Completi	on Date	Current Con	npletion Date	Actua	l Completi	on Date	% of Current	Contract Amour	nt Complete
June 30, 202	4	June 3	0, 2024	Jai	nuary 10, 2	100.00%			
	Con	tract Informatio	nal Dates				М	ilestones	
Date Description	Original Co	mpletion Date	Current Com	pletion Date		No Milest	ones Exist for Contr	act	
Acceptance Date	February 4,	2025	February 4, 20)25					
Awarded Date	February 8,	2023	February 8, 20)23					
Letting Date	January 20,	2023	January 20, 20	023					
Notice to Proceed Date	March 13, 20	023	March 13, 202	23					
Work Began Date	April 5, 2023	3	April 5, 2023						

Contract Total Pa	y For Estimate No. 22			
		This Estimate	Previous	To Date
230120-F03				
	Total Posted Items Pay	(\$2,625.00)	\$3,212,616.08	\$3,209,991.08
	Gross Item Adjustments	\$2,625.00	(\$2,165.00)	\$460.00
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$3,210,451.08	\$3,210,451.08
Contract Total Pa	yable This Estimate:	\$0.00		

Items Paid This Estimate Period

J6I3616 0570 7320618A 18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED EA \$2,625.000 -1 (\$2,625.00	Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
	J6I3616	0570			EA	\$2,625.000	-1	(\$2,625.00)

 Project J6l3616 - Total
 (\$2,625.00)

 Overall - Total
 (\$2,625.00)

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	Adjus	tments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6I3616	0570	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Other Item Adjustment	Left Over Materials	On Estimate 19 the inspector did a -\$2165.00 adjustment to line 570 18-inch Flared end section for left over material. There should have been a CO to remove the Flared End Section and an adjustment to add the cost of the material given to MoDOT. This will correct this mistake.			\$2,165.00
	0570	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	Other Item Adjustment	Left Over Materials	On Estimate 19 the inspector did a -\$2165.00 adjustment to line 570 18-inch Flared end section for left over material. There should have been a CO to remove the Flared End Section and an adjustment to add the cost of the material given to MoDOT. This will correct this mistake. \$460 for the cost of the left-over Flared End Section			\$460.00
Total								\$2,625.00

Revision 5/29/2025 Page 1 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informat	tion
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J6I3616	I 270-5(367)	Bridge rehabilitation	I-270	ST LOUIS	from Route 180 to Route	370	
Totals I	by Job Nu	mbers					
J6I3616					This Estimate	Previous	To Date
		Item Pay tem Adjustme			(\$2,625.00) \$2,625.00	\$3,212,616.08 (\$2,165.00)	\$3,209,991.08 \$460.00
			Gross I	tem Pay	\$0.00	\$3,210,451.08	\$3,210,451.08
	Incenti	ve			\$0.00	\$0.00	\$0.00
	Disince				\$0.00	\$0.00	\$0.00
		ted Damages			\$0.00	\$0.00	\$0.00
	Other C	Contract Adjust	tments		\$0.00	\$0.00	\$0.00

Revision 5/29/2025 Page 2 of 15





Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 5/29/2025 Page 3 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)			
J6I3616	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$11,500.00	\$11,500.0			
	0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$394,000.00	\$394,000.0			
	0001	0030	2031000	CLASS A EXCAVATION	4,288.00	0.00	4,288.00	CUYD	4,288.00	\$43.00	\$184,384.0			
	0001	0040	2035500	EMBANKMENT IN PLACE	769.00	0.00	769.00	CUYD	769.00	\$35.00	\$26,915.0			
	0001	0050	2036000	COMPACTING EMBANKMENT	201.00	0.00	201.00	CUYD	201.00	\$12.50	\$2,512.5			
	0001	0060	2037075	COMPACTING IN CUT	19.00	0.00	19.00	STA	19.00	\$1,200.00	\$22,800.0			
	0001	0070	2063300	CLASS 4 EXCAVATION	64.00	0.00	64.00	CUYD	64.00	\$48.50	\$3,104.0			
	0001	0800	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.0			
	0001	0090	2072000	LINEAR GRADING CLASS 2	10.50	0.00	10.50	STA	10.50	\$4,250.00	\$44,625.0			
	0001	0100	2142000	FURNISHING ROCK FILL	2,030.00	0.00	2,030.00	CUYD	2,030.00	\$37.00	\$75,110.0			
	0001	0110	2143000	PLACING ROCK FILL	2,030.00	0.00	2,030.00	CUYD	2,030.00	\$23.00	\$46,690.0			
	0001	0120	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENT	2.00	0.00	2.00	100F	2.00	\$22,000.00	\$44,000.00			
	0001	0130	3030600	FURNISHING ROCK BASE MATERIAL	2,141.00	0.00	2,141.00	SQYD	2,141.00	\$26.00	\$55,666.00			
	0001	0140	3030610A	PLACING ROCK BASE	2,141.00	0.00	2,141.00	SQYD	2,141.00	\$15.00	\$32,115.00			
	0001	0150	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	2,908.00	-113.10	2,794.90	SQYD	2,794.90	\$15.00	\$41,923.50			
	0001	0160	4039905	MISC.OPTIONAL BYPASS PAVEMENT	2,671.20	-186.70	2,484.50	SQYD	2,484.50	\$85.50	\$212,424.75			
	0001	0170	4139903	MISC.CRACK SEALING USING HOT-POUR	306.00	208.00	514.00	LF	514.00	\$13.50	\$6,939.00			
	0001	0180	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	200.00	113.00	313.00	SQYD	313.00	\$95.00	\$29,735.00			
	0001	0190	5021335	CONCRETE PAVEMENT (11 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	1,610.20	0.00	1,610.20	SQYD	1,610.20	\$107.00	\$172,291.40			
	0001	0200	5041000	CONCRETE APPROACH PAVEMENT	823.20	0.00	823.20	SQYD	823.20	\$135.00	\$111,132.00			
	0001	0210	6049901	MISC.VIDEO INSPECTION OF SEWERS	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00			
	0001	0220	6052010A	STRUCTURAL UNDERDRAIN	214.00	0.00	214.00	LF	214.00	\$80.00	\$17,120.00			
	0001	0230	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	20.00	0.00	20.00	LF	20.00	\$72.00	\$1,440.0			
	0001	0240	6091042	CONCRETE GUTTER TYPE B	230.00	0.00	230.00	LF	230.00	\$79.00	\$18,170.00			
	0001	0250	6091060	PAVED DITCH	69.30	-51.30	18.00	SQYD	18.00	\$211.00	\$3,798.00			
	0001	0260	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	494.00	-36.90	457.10	LF	457.10	\$29.00	\$13,255.90			
	0001	0270	6094010	DRAIN BASIN	1.00	0.00	1.00	EA	1.00	\$7,300.00	\$7,300.0			
	0001	0280	6097000	ROCK LINING	9.00	13.00	22.00	CUYD	22.00	\$222.00	\$4,884.00			
	0001	0290	6113010	FURNISHING TYPE 1 ROCK BLANKET	382.00	165.00	547.00	CUYD	547.00	\$70.00	\$38,290.00			
	0001	0300	6113030	PLACING TYPE 1 ROCK BLANKET	382.00	165.00	547.00	CUYD	547.00	\$65.00	\$35,555.0			
	0001	0310	6116010A	SLOPE PROTECTION	218.00	-143.00	75.00	SQYD	75.00	\$177.00	\$13,275.0			
	0001	0320	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	6.00	0.00	6.00	EA	6.00	\$2,785.00	\$16,710.0			
	0001	0330	6122020	REPLACEMENT SAND BARREL	14.00	-6.00	8.00	EA	8.00	\$495.00	\$3,960.0			
	0001	0340	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	0.00	3.00	EA	3.00	\$2,500.00	\$7,500.00			
	0001	0350	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	38.00	-29.00	9.00	EA	9.00	\$850.00	\$7,650.0			
	0001	0360	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	1.00	\$82,000.00	\$82,000.0			
	0001	0370	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGNS (CONTRACTOR FURNISHED/RETAINED)	6.00	-3.00	3.00	EA	3.00	\$2,800.00	\$8,400.00			
	0001	0380	6173000	CONCRETE TRAFFIC BARRIER, TYPE C	199.00	0.00	199.00	LF	199.00	\$204.00	\$40,596.0			
	0001	0390	6173100	CONCRETE TRAFFIC BARRIER, TYPE D	90.00	0.00	90.00	LF	90.00	\$243.00	\$21,870.0			
	0001	0400	6173102	CONCRETE TRAFFIC BARRIER, TYPE D (RETAINING WALL)	160.00	0.00	160.00	LF	160.00	\$225.00	\$36,000.0			
	0001	0410	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	7,153.00	-178.00	6,975.00	LF	6,975.00	\$30.75	\$214,481.2			
	0001	0420	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$228,124.75	\$228,124.7			
	0001	0430	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	-2.00	2.00	EA	2.00	\$600.00	\$1,200.0			
	0001	0440	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	6,467.00	-38.00	6,429.00	LF	6,429.00	\$1.00	\$6,429.0			
	0001	0450	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,264.00	-684.00	3,580.00	LF	3,580.00	\$1.00	\$3,580.0			
	0001	0460	6205906A	12 IN, WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	872.00	0.00	872.00	LF	872.00	\$2.00	\$1,744.0			
	0001	0470	6207001	PAVEMENT MARKING REMOVAL	43,274.00	-34,743.00	8,531.00	LF	8,531.00	\$1.50	\$12,796.5			
	0001	0480	6209903	MISC.TEMPORARY REMOVABLE MARKING TAPE, 12 IN. BLACK	17,976.00	-13,423.00	4,553.00	LF	4,553.00	\$6.00	\$27,318.0			
	0001	104			0490 6209903 MISC.TEMPORARY REMOVABLE MARKING TAPE, 12 IN			420.00	-420.00	0.00	LF	0.00	\$5.00	\$0.0
	0001	0500	6209903	MISC.TEMPORARY REMOVABLE MARKING TAPE, 6 IN. WHITE	16,195.00	-2,537.00	13,658.00	LF	13,658.00	\$2.00	\$27,316.0			
	0001	0510	6209903	MISC.TEMPORARY REMOVABLE MARKING TAPE, 6 IN. YELLOW	9,088.00	-3,251.00	5,837.00	LF	5,837.00	\$2.00	\$11,674.0			
	0001	0520	6214600A	FLOWABLE BACKFILL	11.00	-11.00	0.00	CUYD	0.00	\$1,020.00	\$0.00			
	0001	0530	6240104A	SEPARATION GEOTEXTILE	2,657.00	333.00	2,990.00	SQYD	2,990.00	\$6.00	\$17,940.00			

Revision 5/29/2025 Page 4 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

tract D	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
120-	J6I3616	0001	0540	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$22,300.00	\$22,300.0
		0001	0550	7265018	JACKED 18 IN, CLASS III REINFORCED CONCRETE PIPE CULVERTS (GASKET TYPE)	138.00	0.00	138.00	LF	138.00	\$1,145.00	\$158,010.0
		0001	0560	7319902	MISC.REPLACE INLET TOP TO NEW GRADE	4.00	0.00	4.00	EA	4.00	\$5,350.00	\$21,400.0
		0001	0570	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	-1.00	1.00	EA	1.00	\$2,625.00	\$2,625.0
		0001	0580	8025006	MULCHING	2.40	1.00	3.40	ACRE	3.40	\$1,850.00	\$6,290.0
		0001	0590	8051000A	SEEDING - COOL SEASON GRASSES	0.50	1.71	2.21	ACRE	2.21	\$3,500.00	\$7,735.
		0001	0600	8052000A	SEEDING - WARM SEASON GRASSES	1.50	-1.50	0.00	ACRE	0.00	\$3,500.00	\$0.
		0001	0610	8061005	ROCK DITCH CHECK	224.00	-224.00	0.00	LF	0.00	\$13.50	\$0.
		0001	0620	8061016	SEDIMENT REMOVAL	46.00	-46.00	0.00	CUYD	0.00	\$50.00	\$0.
		0001	0630	8061017	TEMPORARY SEEDING	0.50	-0.50	0.00	ACRE	0.00	\$2,850.00	\$0
		0001	0640	8061019	SILT FENCE	1,685.00	-1,295.00	390.00	LF	390.00	\$2.90	\$1,131
		0001	0650	8064133	TYPE 1C EROSION CONTROL BLANKET	2,850.00	-2,850.00	0.00	SQYD	0.00	\$2.00	\$0
		0001	0660	8064134	TYPE 1D EROSION CONTROL BLANKET	1,641.00	-1,641.00	0.00	SQYD	0.00	\$2.20	\$0
		0010	0670	6061060	MGS GUARDRAIL	1,825.00	0.00	1,825.00	LF	1,825.00	\$32.00	\$58,400
		0010	0680	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	38.00	0.00	38.00	LF	38.00	\$38.00	\$1,444
		0010	0690	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	3.00	0.00	3.00	EA	3.00	\$4,400.00	\$13,200
		0010	0700	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULARINO CURB)	2.00	0.00	2.00	EA	2.00	\$4,200.00	\$8,400
		0010	0710	6061074	MGS HEIGHT AND BLOCK TRANSITION	1.00	0.00	1.00	EA	1.00	\$900.00	\$900
		0010	0720	6061080	MGS END ANCHOR	3.00	0.00	3.00	EA	3.00	\$1,600.00	\$4,800
		0010	0730	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	2.00	\$3,600.00	\$7,200
		0020	0740	9015010	TRENCHING TYPE I	687.00	-687.00	0.00	LF	0.00	\$8.00	\$0
		0020	0750	9015020	TRENCHING TYPE II	76.00	-76.00	0.00	LF	0.00	\$10.75	\$0
		0020	0760	9017404	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 6 AWG	830.00	-830.00	0.00	LF	0.00	\$5.00	\$0
		0050	0770	9109903	MISC.MODOT ITS ASSETS RELOCATION	3,000.00	-3,000.00	0.00	LF	0.00	\$17.00	\$0
		0070	0780	7110300	CONCRETE AND MASONRY PROTECTION SYSTEM	1.00	0.00	1.00	LS	1.00	\$3,400.00	\$3,400
		0070	0790	7110400	SACRIFICIAL GRAFFITI PROTECTION SYSTEM	1.00	-1.00	0.00	LS	0.00	\$2,100.00	\$0
		0070	0800	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	740.00	0.00	740.00	SQFT	740.00	\$166.00	\$122,840
		0071	0810	5031010A	BRIDGE APPROACH SLAB (MAJOR)	608.00	0.00	608.00	SQYD	608.00	\$492.00	\$299.136
		0001	5001	6122030	IMPACT ATTENUATOR (RELOCATION)	0.00	1.00	1.00	EA	1.00	\$1,207.50	\$1,207
		0001	5002	2063500	CULVERT CLEANOUT	0.00	2.00	2.00	EA	2.00	\$988.48	\$1,976
		0001	5003	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	0.00	6.00	6.00	FT	6.00	\$730.00	\$4,380
		0001	5004	6141024	GRATE AND BEARING PLATE (5 FT. X 3 FT. OR 1524 MM X 914 MM)	0.00	1.00	1.00	EA	1.00	\$3,838.04	\$3,838
		0001	5005	2063000	CLASS 3 EXCAVATION	0.00	11.00	11.00	CUYD	11.00	\$103.00	\$1,133
	Project J	61361 <u>6 - T</u> c	tal <u>Value</u>	Posted to D	late as of Report Generated Date							\$3,209,991
					s of Report Generated Date							\$3,209,991

Revision 5/29/2025 Page 5 of 15



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6l3616

Line Numb	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.		Units		Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0570	7320618A	18 IN. GROUP A FLARED END SECT	2/4/25	2/4/25	1	-1.00	EA	18 inch Flared end section was paid by mistake. This will correct the mistake.				18 inch Flared end section was paid by mistake. This will correct the mistake.

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 6 of 15



	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3616	0150	TYPE 5 AGGREGATE	Material		1	Apr 17, 2023	SYSTEM	(\$12,802.50)	
		FOR BASE			1	Apr 17, 2023	SYSTEM	\$12,802.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	May 1, 2023	SYSTEM	(\$12,802.50)	
					2	May 1, 2023	SYSTEM	\$12,802.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	May 15, 2023	SYSTEM	(\$19,038.00)	
					3	May 15, 2023	SYSTEM	\$19,038.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jun 1, 2023	SYSTEM	(\$19,038.00)	
					4	Jun 1, 2023	SYSTEM	\$19,038.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jun 20, 2023	SYSTEM	(\$37,263.00)	
					5	Jun 20, 2023	SYSTEM	\$37,263.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user bauerd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jun 30, 2023	SYSTEM	(\$37,263.00)	
					6	Jun 30, 2023	SYSTEM	\$37,263.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Jul 17, 2023	SYSTEM	(\$37,263.00)	
					7	Jul 17, 2023	SYSTEM	\$37,263.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Aug 2,	SYSTEM	(\$37,263.00)	
					0	2023		(\$01,200.00)	
					8		SYSTEM	\$37,263.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total		2023 Aug 2,		\$37,263.00 \$0.00	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment
	0450	T-101	Material - Tot			2023 Aug 2,		\$37,263.00 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment
	0150 -	Total MISC.	Material - Too			2023 Aug 2,		\$37,263.00 \$0.00	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment
					8	2023 Aug 2, 2023	SYSTEM	\$37,263.00 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment
					4	2023 Aug 2, 2023 Jun 1, 2023 Jun 1,	SYSTEM	\$37,263.00 \$0.00 \$0.00 \$0.00 (\$100,334.25)	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment
				tal	4 4	2023 Aug 2, 2023 Jun 1, 2023 Jun 1, 2023 Jun 20,	SYSTEM SYSTEM SYSTEM	\$37,263.00 \$0.00 \$0.00 \$0.00 (\$100,334.25) \$100,334.25 (\$160,184.25)	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment
			Material	tal - Total	4 4 5	2023 Aug 2, 2023 Jun 1, 2023 Jun 20, 2023 Jun 20,	SYSTEM SYSTEM SYSTEM	\$37,263.00 \$0.00 \$0.00 \$0.00 (\$100,334.25) \$100,334.25 (\$160,184.25) \$160,184.25	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bauerd1 overridding Payment
	0160	MISC.		tal - Total	4 4 5	2023 Aug 2, 2023 Jun 1, 2023 Jun 20, 2023 Jun 20,	SYSTEM SYSTEM SYSTEM	\$37,263.00 \$0.00 \$0.00 \$0.00 (\$100,334.25) \$100,334.25 (\$160,184.25) \$160,184.25	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bauerd1 overridding Payment
		MISC.	Material	tal - Total	4 4 5	2023 Aug 2, 2023 Jun 1, 2023 Jun 20, 2023 Jun 20,	SYSTEM SYSTEM SYSTEM	\$37,263.00 \$0.00 \$0.00 \$0.00 (\$100,334.25) \$100,334.25 (\$160,184.25) \$160,184.25	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bauerd1 overridding Payment Estimate Item Adjustment (0006) due to user bauerd1 overridding Payment
	0160 -	MISC.	Material - Total	tal - Total	4 4 5 5 5	2023 Aug 2, 2023 Jun 1, 2023 Jun 20, 2023 Jun 20, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$37,263.00 \$0.00 \$0.00 \$0.00 (\$100,334.25) \$100,334.25 (\$160,184.25) \$160,184.25 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bauerd1 overridding Payment Estimate Item Adjustment (0006) due to user bauerd1 overridding Payment
	0160 -	MISC.	Material - Total	tal - Total	4 4 5 5	2023 Aug 2, 2023 Jun 1, 2023 Jun 20, 2023 Jun 20, 2023 Jun 20, 2023 Dec 1, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$37,263.00 \$0.00 \$0.00 \$0.00 (\$100,334.25) \$100,334.25 (\$160,184.25) \$160,184.25 \$0.00 \$0.00 \$3,240.00)	Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bauerd1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
J6I3616	0170	MISC.	Material						Estimate Exception 1 on the current Payment Estimate.			
				- Total				\$0.00				
			Material - To	tal				\$0.00				
	0170 -							\$0.00				
	0190	CONCRETE PAVEMENT (11	Material		4	Jun 1, 2023	SYSTEM	(\$31,030.00)				
		1/2 IN. NON- REINF,			4	Jun 1, 2023	SYSTEM	\$31,030.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment Estimate Exception 5 on the current Payment Estimate.			
					5	Jun 20, 2023	SYSTEM	(\$55,212.00)				
					5	Jun 20, 2023	SYSTEM	\$55,212.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bauerd1 overridding Payment Estimate Exception 3 on the current Payment Estimate.			
					6	Jun 30, 2023	SYSTEM	(\$91,378.00)				
					6	Jun 30, 2023	SYSTEM	\$91,378.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.			
					7	Jul 17, 2023	SYSTEM	(\$91,378.00)				
					7	Jul 17, 2023	SYSTEM	\$91,378.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.			
					8	Aug 2, 2023	SYSTEM	(\$105,290.78)				
					8	Aug 2, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.			
					9	Aug 15, 2023	SYSTEM	(\$105,290.78)				
					9	Aug 15, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
					10	Sep 4, 2023	SYSTEM	(\$105,290.78)				
					10	Sep 4, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
								11	Sep 15, 2023	SYSTEM	(\$105,290.78)	
					11	Sep 15, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
					12	Sep 30, 2023	SYSTEM	(\$105,290.78)				
					12	Sep 30, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
					13	Oct 15, 2023	SYSTEM	(\$105,290.78)				
								13	Oct 15, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					14	Nov 1, 2023	SYSTEM	(\$105,290.78)				
							14	Nov 1, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					15	Nov 15, 2023	SYSTEM	(\$105,290.78)				
								15	Nov 15, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					16	Dec 1, 2023	SYSTEM	(\$105,290.78)				



ect				0.11			0		5 .
	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
616	0190	CONCRETE PAVEMENT (11 1/2 IN. NON-	Material		16	Dec 1, 2023	SYSTEM	\$105,290.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		REINF,		- Total				\$0.00	
			Material - To	tal				\$0.00	
	0190 -	Total						\$0.00	
	0200	CONCRETE	Material		4	Jun 1,	SYSTEM	(\$19,980.00)	
		APPROACH PAVEMENT			4	Jun 1, 2023	SYSTEM	\$19,980.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Paymen Estimate Exception 12 on the current Payment Estimate.
					5	Jun 20, 2023	SYSTEM	(\$35,640.00)	
					5	Jun 20, 2023	SYSTEM	\$35,640.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user bauerd1 overridding Paymer Estimate Exception 5 on the current Payment Estimate.
					6	Jun 30, 2023	SYSTEM	(\$58,995.00)	
					6	Jun 30, 2023	SYSTEM	\$58,995.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	Jul 17, 2023	SYSTEM	(\$58,995.00)	
					7	Jul 17, 2023	SYSTEM	\$58,995.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Aug 2, 2023	SYSTEM	(\$111,132.00)	
					8	Aug 2, 2023	SYSTEM	\$111,132.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0200 -							\$0.00	
	0200 - 0240		Material		15	Nov 15, 2023	SYSTEM		
		CONCRETE			15		SYSTEM SYSTEM	\$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate.
		CONCRETE				2023 Nov 15,		\$0.00 (\$18,170.00)	Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment
		CONCRETE			15	2023 Nov 15, 2023	SYSTEM	\$0.00 (\$18,170.00) \$18,170.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment
		CONCRETE		- Total	15	2023 Nov 15, 2023 Dec 1, 2023 Dec 1,	SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00)	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment
		CONCRETE		- Total	15	2023 Nov 15, 2023 Dec 1, 2023 Dec 1,	SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment
		CONCRETE GUTTER TYPE B	Material	- Total	15	2023 Nov 15, 2023 Dec 1, 2023 Dec 1,	SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment
	0240	CONCRETE GUTTER TYPE B	Material	- Total	15	2023 Nov 15, 2023 Dec 1, 2023 Dec 1,	SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00 \$0.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment
	0240 -	CONCRETE GUTTER TYPE B	Material Material - To	- Total	15 16 16	2023 Nov 15, 2023 Dec 1, 2023 Dec 1, 2023	SYSTEM SYSTEM SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00 \$0.00 \$0.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment
	0240 -	CONCRETE GUTTER TYPE B	Material Material - To	- Total	15 16 16	2023 Nov 15, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023	SYSTEM SYSTEM SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00 \$0.00 \$0.00 \$0.00 (\$3,798.00)	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Paymer Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Payment
	0240 -	CONCRETE GUTTER TYPE B	Material Material - To	- Total	15 16 16 16	2023 Nov 15, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00 \$0.00 \$0.00 \$0.00 (\$3,798.00) \$3,798.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Paymer Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Paymer Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment This adjustment offsets the original system-generated Material Payment
	0240 -	CONCRETE GUTTER TYPE B	Material Material - To	- Total	15 16 16 16 16 17	2023 Nov 15, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 18, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00 \$0.00 \$0.00 \$0.00 (\$3,798.00) (\$3,798.00)	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Paymer Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Paymer Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment
	0240 -	CONCRETE GUTTER TYPE B	Material Material - To	- Total tal	15 16 16 16 16 17	2023 Nov 15, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 18, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00 \$0.00 \$0.00 \$0.00 (\$3,798.00) \$3,798.00 (\$3,798.00) \$3,798.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Paymer Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Paymer Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment
	0240 -	CONCRETE GUTTER TYPE B Total PAVED DITCH	Material - To Material	- Total tal	15 16 16 16 16 17	2023 Nov 15, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 18, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$18,170.00) \$18,170.00) (\$18,170.00) (\$18,170.00) \$18,170.00 \$0.00 \$0.00 (\$3,798.00) (\$3,798.00) \$3,798.00 \$3,798.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Paymer Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Paymer Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment
	0240 - 0240 - 0250	CONCRETE GUTTER TYPE B Total PAVED DITCH	Material - To Material	- Total tal	15 16 16 16 16 17	2023 Nov 15, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 1, 2023 Dec 18, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$18,170.00) \$18,170.00) \$18,170.00 (\$18,170.00) \$18,170.00 \$0.00 \$0.00 \$0.00 (\$3,798.00) \$3,798.00 \$3,798.00 \$0.00 \$0.00	Estimate Item Adjustment (0003) due to user cunnib2 overridding Paymer Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Paymer Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Paymer Estimate Exception 5 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment



Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
0260	UNDER)	Material	Туре		2023			Estimate Item Adjustment (0006) due to user cunnib2 overridding Payment
			- Total				\$0,00	Estimate Exception 13 on the current Payment Estimate.
		Material - To					\$0.00	
0260	- Total	Material - 10	tai				\$0.00	
0340		Material		1	Apr 17, 2023	SYSTEM	(\$2,500.00)	
	MOUNTED ATTEN (TMA)			1	Apr 17, 2023	SYSTEM	\$2,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
		Material - To	tal				\$0.00	
0340	- Total						\$0.00	
0360	MISC.	Material		1	Apr 17, 2023	SYSTEM	(\$8,200.00)	
				1	Apr 17, 2023	SYSTEM	\$8,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total	ı			\$0.00	
		Material - To	tal				\$0.00	
0360	- Total						\$0.00	
0370	MISC. TRAFFIC CONTROL DEVICES	Material		1	Apr 17, 2023	SYSTEM	(\$5,600.00)	
	DEVICES			1	Apr 17, 2023	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
		Material - To	tal				\$0.00	
							\$0.00	
0380	TRAFFIC BARRIER, TYPE	Material		9	Aug 15, 2023	SYSTEM	(\$40,596.00)	
	C			9	Aug 15, 2023	SYSTEM	\$40,596.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				10	Sep 4, 2023	SYSTEM	(\$40,596.00)	
				10	Sep 4, 2023	SYSTEM	\$40,596.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
		Material - To	tal				\$0.00	
0380	- Total						\$0.00	
0390	CONCRETE TRAFFIC BARRIER, TYPE	Material		12	Sep 30, 2023	SYSTEM	(\$21,870.00)	
	D D			12	Sep 30, 2023	SYSTEM	\$21,870.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
		Material - To	tal				\$0.00	
	- Total						\$0.00	
0530	SEPARATION GEOTEXTILE	Material		12	Sep 30, 2023	SYSTEM	(\$7,044.00)	
				12	Sep 30, 2023	SYSTEM	\$7,044.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user cunnib2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				13	Oct 15, 2023	SYSTEM	(\$7,044.00)	
				13	Oct 15, 2023	SYSTEM	\$7,044.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
								Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	Estimate Exception 3 on the current Payment Estimate.



16	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
	0530	SEPARATION GEOTEXTILE							
	0530 -	30 - Total							
	0570	18 IN. GROUP A FLARED END SECT	Other Item Adjustment	MATL	19	Jan 16, 2024	cunnib2	(\$2,165.00)	The FES was not used on the job as existing conditions warranted a new special inlet. The FES was on site. The contractor agreed to be paid for the original material. \$460.
					22	Feb 19, 2025	BAUERD1	\$2,165.00	On Estimate 19 the inspector did a -\$2165.00 adjustment to line 570 18-inch Flared end section for left over material. There should have been a CO to remove the Flared End Section and an adjustment to add the cost of the material given to MoDOT. This will correct this mistake.
					22	Feb 19, 2025	BAUERD1	\$460.00	On Estimate 19 the inspector did a -\$2165.00 adjustment to line 570 18-inch Flared end section for left over material. There should have been a CO to remove the Flared End Section and an adjustment to add the cost of the material given to MoDOT. This will correct this mistake. \$460 for the cost of the left-over Flared End Section
				MATL - Tota	al			\$460.00	
			Other Item A	djustment - T	otal			\$460.00	
	0570 -	Total						\$460.00	
	0580	MULCHING	Material		4	Jun 1, 2023	SYSTEM	(\$740.00)	
					4	Jun 1, 2023	SYSTEM	\$740.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnib2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					5	Jun 20, 2023	SYSTEM	(\$740.00)	
					5	Jun 20, 2023	SYSTEM	\$740.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user bauerd1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0580 -	80 - Total							
0	0590	SEEDING - COOL SEASON GRASSES	Material		4	Jun 1, 2023	SYSTEM	(\$735.00)	
					4	Jun 1, 2023	SYSTEM	\$735.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user cunnib2 overridding Payment
									Estimate Exception 17 on the current Payment Estimate.
					5	Jun 20, 2023	SYSTEM	(\$735.00)	Estimate Exception 17 on the current Payment Estimate.
					5		SYSTEM	(\$735.00) \$735.00	Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total		2023 Jun 20,			This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment
			Material - To			2023 Jun 20,		\$735.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment
	0590 -	- Total	Material - To			2023 Jun 20,		\$735.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment
		• Total SILT FENCE	Material - To			2023 Jun 20,		\$735.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment
					5	Jun 20, 2023 Jun 1,	SYSTEM	\$735.00 \$0.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment
					5	Jun 20, 2023 Jun 1, 2023 Jun 1,	SYSTEM	\$735.00 \$0.00 \$0.00 \$0.00 (\$72.50)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnib2 overridding Payment
				- Total	5	Jun 20, 2023 Jun 1, 2023 Jun 1,	SYSTEM	\$735.00 \$0.00 \$0.00 \$0.00 (\$72.50)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnib2 overridding Payment
		SILT FENCE	Material	- Total	5	Jun 20, 2023 Jun 1, 2023 Jun 1,	SYSTEM	\$735.00 \$0.00 \$0.00 \$0.00 (\$72.50) \$72.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnib2 overridding Payment
	0640 0640 -	SILT FENCE Total TYPE 1C EROSION	Material	- Total	5	Jun 20, 2023 Jun 1, 2023 Jun 1,	SYSTEM	\$735.00 \$0.00 \$0.00 \$0.00 (\$72.50) \$72.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnib2 overridding Payment
	0640 0640 -	SILT FENCE Total TYPE 1C	Material Material - To	- Total	4 4	Jun 1, 2023 Jun 20, 2023 Jun 1, 2023 Jun 1, 2023	SYSTEM SYSTEM SYSTEM	\$735.00 \$0.00 \$0.00 \$0.00 (\$72.50) \$72.50 \$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnib2 overridding Payment
	0640 0640 -	Total TYPE 1C EROSION CONTROL	Material Material - To	- Total	4 4	Jun 1, 2023 Jun 20, 2023 Jun 1, 2023 Jun 1, 2023 Jun 1, 2023	SYSTEM SYSTEM SYSTEM SYSTEM	\$735.00 \$0.00 \$0.00 \$0.00 (\$72.50) \$72.50 \$0.00 \$0.00 \$0.00 \$1,947.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnib2 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user cunnib2 overridding Payment Estimate Item Adjustment (0010) due to user cunnib2 overridding Payment
	0640 0640 -	Total TYPE 1C EROSION CONTROL	Material Material - To	- Total	4 4 4	Jun 1, 2023 Jun 1, 2023 Jun 1, 2023 Jun 1, 2023 Jun 1, 2023 Jun 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$735.00 \$0.00 \$0.00 \$0.00 (\$72.50) \$72.50 \$0.00 \$0.00 \$1,947.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bauerd1 overridding Payment Estimate Exception 8 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user cunnib2 overridding Payment Estimate Exception 18 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user cunnib2 overridding Payment Estimate Item Adjustment (0010) due to user cunnib2 overridding Payment



4	Line	December	A -11:	041	F-4	041	0	A 4	Dada
ect	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
616		TYPE 1C EROSION CONTROL BLANKET	Material	Туре		2023			
					6	Jun 30, 2023	SYSTEM	\$1,947.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					7	Jul 17, 2023	SYSTEM	(\$1,947.00)	
					7	Jul 17, 2023	SYSTEM	\$1,947.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0650 -	Total						\$0.00	
	0670	MGS GUARDRAIL	Construction Stockpile		4	Jun 1, 2023	SYSTEM	(\$13,030.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$13,030.50)	
			Construction	Stockpile - 1	Γotal			(\$13,030.50)	
			Construction Stockpile		3	May 15, 2023	SYSTEM	\$13,030.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$13,030.50	
			Construction	ı Stockpile STMI - Total				\$13,030.50	
	0670 -	Total						\$0.00	
	0680	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Construction Stockpile		12	Sep 30, 2023	SYSTEM	(\$711.75)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$711.75)	
			Construction	Stockpile - 1	Γotal			(\$711.75)	
			Construction Stockpile		3	May 15, 2023	SYSTEM	\$711.75	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$711.75	
			Construction Stockpile STMI - Total					\$711.75	
	0680 -	Total						\$0.00	
	0690	MGS BRIDGE APP. TRANS SEC (EXT	Construction Stockpile		4	Jun 1, 2023	SYSTEM	(\$6,795.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		CURB)		- Total				(\$6,795.00)	
			Construction	Stockpile - 1	Γotal			(\$6,795.00)	
			Construction Stockpile STMI		3	May 15, 2023	SYSTEM	\$6,795.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			OTIVII	- Total				\$6,795.00	
			Construction	Stocknila S	TML Total				
				1 Stockpile 3	TIVII - TOLA			\$6,795.00	
	0690 -			1 этоскрпе э				\$6,795.00 \$0.00	
		MGS BRIDGE APP. TRANS	Construction Stockpile		16	Dec 1, 2023	SYSTEM	\$6,795.00 \$0.00 (\$4,400.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE	Construction Stockpile	- Total	16	Dec 1,	SYSTEM	\$6,795.00 \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile	- Total	16	Dec 1, 2023		\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00)	
		MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile Construction Construction Stockpile	- Total 1 Stockpile - 1	16	Dec 1,		\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile Construction Construction Stockpile STMI	- Total I Stockpile - 1 - Total	16 Fotal 3	Dec 1, 2023 May 15, 2023		\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00	
	0700	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile Construction Construction Stockpile	- Total I Stockpile - 1 - Total	16 Fotal 3	Dec 1, 2023 May 15, 2023		\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00 \$4,400.00	
	0700	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile Construction Stockpile STMI Construction	- Total I Stockpile - 1 - Total	16 Fotal 3	Dec 1, 2023	SYSTEM	\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00 \$4,400.00 \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	0700	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile Construction Construction Stockpile STMI	- Total I Stockpile - T - Total I Stockpile S	16 Fotal 3	Dec 1, 2023 May 15, 2023		\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00 \$4,400.00 \$0.00 (\$408.00)	
	0700	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) Total MGS HEIGHT AND BLOCK	Construction Stockpile Construction Stockpile STMI Construction Construction Stockpile	- Total - Total - Total - Stockpile S	Total 3 TMI - Total	Dec 1, 2023 May 15, 2023 Dec 1,	SYSTEM	\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00 \$4,400.00 \$4,400.00 (\$408.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
	0700	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) Total MGS HEIGHT AND BLOCK	Construction Stockpile Construction Stockpile STMI Construction Stockpile STMI Construction Stockpile Construction	- Total - Total - Total - Stockpile S	Total 3 TMI - Total	Dec 1, 2023 May 15, 2023 Dec 1, 2023	SYSTEM	\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00 \$4,400.00 \$0.00 (\$408.00) (\$408.00)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
	0700	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) Total MGS HEIGHT AND BLOCK	Construction Stockpile Construction Stockpile STMI Construction Construction Stockpile	- Total - Total - Total - Stockpile S - Total - Total	Total 3 TMI - Total	Dec 1, 2023 May 15, 2023 Dec 1,	SYSTEM	\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00 \$4,400.00 \$4,400.00 (\$408.00) (\$408.00) (\$408.00) \$408.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	0700	MGS BRIDGE APP. TRANS SEC (REG/NO CURB) Total MGS HEIGHT AND BLOCK	Construction Stockpile Construction Stockpile STMI Construction Stockpile Construction Stockpile Construction Stockpile	- Total - Total - Total Stockpile S	TMI - Total 16 Total 3	Dec 1, 2023 May 15, 2023 Dec 1, 2023	SYSTEM	\$6,795.00 \$0.00 (\$4,400.00) (\$4,400.00) (\$4,400.00) \$4,400.00 \$4,400.00 \$0.00 (\$408.00) (\$408.00)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
J6I3616	0710 -	Total						\$0.00				
	0720	MGS END ANCHOR	Construction Stockpile		4	Jun 1, 2023	SYSTEM	(\$1,599.63)	Payment Estimate Item Adjustment generated Stockpile Transaction			
					10	Sep 4, 2023	SYSTEM	(\$1,025.37)	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				(\$2,625.00)				
			Construction	Stockpile -	Total			(\$2,625.00)				
			Construction Stockpile STMI		3	May 15, 2023	SYSTEM	\$2,625.00	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				\$2,625.00				
			Construction	Stockpile S	TMI - Tota			\$2,625.00				
	0720 -	Total						\$0.00				
	0730	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		4	Jun 1, 2023	SYSTEM	(\$3,598.85)	Payment Estimate Item Adjustment generated Stockpile Transaction			
		(MASH)			10	Sep 4, 2023	SYSTEM	(\$151.15)	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total	- Total			(\$3,750.00)				
			Construction	Stockpile -	Total			(\$3,750.00)				
			Construction Stockpile STMI		3	May 15, 2023	SYSTEM	\$3,750.00	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				\$3,750.00				
			Construction	Stockpile STMI - Total				\$3,750.00				
	0730 -	Total						\$0.00				
	0810	BRIDGE APPROACH SLAB (MAJOR ROAD)	ROACH B (MAJOR		4	Jun 1, 2023	SYSTEM	(\$54,120.00)				
					4	Jun 1, 2023	SYSTEM	\$54,120.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user cunnib2 overridding Payment Estimate Exception 8 on the current Payment Estimate.			
					5	Jun 20, 2023	SYSTEM	(\$95,940.00)				
					5	Jun 20, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user bauerd1 overridding Payment Estimate Exception 4 on the current Payment Estimate.			
					6	Jun 30, 2023	SYSTEM	(\$158,916.00)				
					6	Jun 30, 2023	SYSTEM	\$158,916.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.			
					7	Jul 17, 2023	SYSTEM	(\$95,940.00)				
								7	Jul 17, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Aug 2, 2023	SYSTEM	(\$151,521.24)				
					8	Aug 2, 2023	SYSTEM	\$151,521.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 5 on the current Payment Estimate.			
					9	Aug 15, 2023	SYSTEM	(\$151,521.24)				
					9	Aug 15, 2023	SYSTEM	\$151,521.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.			
					10	Sep 4, 2023	SYSTEM	(\$95,940.00)				
					10	Sep 4, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.			
					11	Sep 15, 2023	SYSTEM	(\$95,940.00)				
					11	Sep 15, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.			





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6I3616	0810	BRIDGE APPROACH SLAB (MAJOR ROAD)	Material		12	Sep 30, 2023	SYSTEM	(\$95,940.00)	
					12	Sep 30, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					13	Oct 15, 2023	SYSTEM	(\$95,940.00)	
					13	Oct 15, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					14	Nov 1, 2023	SYSTEM	(\$95,940.00)	
					14	Nov 1, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					15	Nov 15, 2023	SYSTEM	(\$95,940.00)	
					15	Nov 15, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					16	Dec 1, 2023	SYSTEM	(\$95,940.00)	
					16	Dec 1, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user cunnib2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					17	Dec 18, 2023	SYSTEM	(\$95,940.00)	
					17	Dec 18, 2023	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					18	Jan 2, 2024	SYSTEM	(\$95,940.00)	
					18	Jan 2, 2024	SYSTEM	\$95,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user cunnib2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0810 -	Total						\$0.00	
J6I3616 -	Total							\$460.00	
Overall -	Total							\$460.00	

MoDOT

Contract Adjustments for Contract - 230120-F03

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 15 of 15